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SECTION -1
GENERAL KNOWLEDGE & CURRENT AFFAIRS

Who is the recently elected President of France?

a) Emmanuel Macron
b) Donald Trump
¢) Barack Obama
d) Marine Le Pen

The term “Brexit” means

a) Britain seeking to tax goods from Europe.

b) Scotland seeking to become an independent nation.
¢) The exit of Britain from the European Union.

d) None of the above.

China recently opposed the Dalai Lama's
visit to

a) Tibet

b) Aksai Chin

¢) Sikkim

d) Arunachal Pradesh

The Chancellor of Germany is

a) Willy Brandt

b) Angela Merkel

¢) Helmut Kohl

d) Konrad Adenauer

Which astronaut recently broke the record for
the longest time in space by an American?

a) Sunita Williams
b) Buzz Aldrin

¢) Rick Husband
d) Peggy Whitson

Rohingya Muslims, currently seeking asylum in

India, belong to

a) Myanmar
b) Bangladesh
¢) Manipur

d) Sri Lanka

The leader of .... has recently threatened
war against the United States of America
a) Libya

b) Turkey

¢) North Korea

d) Sudan

8.

10.

I1.

13.

In 2014, the Prime Minister replaced the Planning
Commission of India with the

a) NITI Aayog

b) Pragati Aayog

¢) Central Commission for Economic Development
d) Jan Aayog Sansthan

The Indian businessman seeking refuge in Britain is

a) Vitthal Mallya
b) Harshad Mehta
¢) Manu Chhabria
d) Vijay Mallya

Which of the following states have women chief
ministers ?

a) Jammu and Kashmir, Rajasthan, and West Bengal
b) Rajasthan and Tamil Nadu

c¢) Tamil Nadu, Rajasthan and Jammu & Kashmir

d) All of the above

Which of the following are Indian medallists in the
2016 Olympics ?

a) Sakshi Malik and Dipa Karmakar

b) Sakshi Malik and Jitu Rai

¢) Abhinav Bindra and P.V. Sindhu

d) Sakshi Malik and P.V. Sindhu

. How many annual national budgets are now

presented every year?

a) One
b) Two
c) Three
d) Four

The world's longest river is

a) Nile

b) Danube

¢) Yangtze

d) Brahmaputra

. Penicillin was discovered by

a) Alexander Fleming

b) Pierre and Marie Curie
c) Albert Einstein

d) Alexander Bell



15.

16.

17.

18.

19.
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21.

22.

Which of the following species has only one male
left ?

a) White Giraffe

b) Black Peaked Tiger

¢) Royal White Hippopotamus
d) Northern White Rhinoceros

The first school for girls in India was founded by

a) Raja Ram Mohun Roy
b) Jyotirao Phule

¢) Savitribai Phule

d) Lord Dalhousie

India is the world's largest producer of

a) Cotton
b) Wheat
¢) Maize
d) All of the above

Which planet was recently demoted from status?

a) Jupiter
b) Pluto

c) Neptune
d) Mars

Pondicherry was the colony of

a) Belgium
b) France

¢) Portugal

d) Netherland

India is separated from Sri Lanka by

a) Durrand Line

b) Mc Mohan Line
¢) Palk Strait

d) Radcliffe Line

The longest highway in India runs from

a) Kolkata to Kandla

b) Guwahati to Amritsar

¢) Varanasi to Kanyakumari
d) Ambala to Kolkata

The southernmost part of India is?

a) Kanyakumari

b) Lakshadweep

¢) Indira Point

d) Vivekanand Point

23.
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Sun temple is situated in

a) Madhya Pradesh
b) Tamil Nadu

¢) Odisha

d) Assam

. Blue revolution is related to

a) Food production
b) Ship building

¢) Poultry

d) Fishery

Goitre is caused due to the deficiency of

a) [ron

b) Zinc

¢) Calcium
d) Todine

. Optic fibers work on the principle of

a) Scattering

b) Dispersion

¢) Radiation

d) Total internal reflection

Which among the following is NOT a
Commonwealth Country?

a) India

b) Nepal

¢) Australia

d) New Zealand

What is 'Phishing' ?

a) Documentation in court

b) Fraudulent way to acquire password and bank
details using email

¢) Appointment of ad-hoc judges

d) Fishing in high sea

Which among the following dances is NOT a
classical dance?

a) Kathakali

b) Kuchipudi

¢) Garba

d) Mohiniattam

Every generation is obliged to preserve its natural
resources for the enjoyment of the future
generations; this doctrine is known as

a) Sustainable development
b) Polluter pay principle

¢) Public private principle
d) Bright future principle



SECTION — 11
ENGLISH INCLUDING COMPREHENSION

Questions 31 -35:
Read the passage below and answer the question that follow :

The literary distaste for politics, however, seems to be focused not so much on the largely murky practice of politics in itself
as a subject of literary representation but rather more on how it is often depicted in literature, i.e., on the very politics of such
representation. A political novel often turns out to be not merely a novel about politics but a novel with a politics of its own,
for it seeks not merely to show us how things are but has fairly definite ideas about how things should be, and precisely what
one should think and do in order to make things move in that desired direction. In short, it seeks to convert and enlist the
reader to a particular cause or ideology; it often is (in an only too familiar phrase) not literature but propaganda. This is said
to violate the very spirit of literature which is to broaden our understanding of the world and the range of our sympathies
rather than to narrow them down through partisan commitment. As John Keats said, 'We hate poetry that has a palpable
designuponus'.

Another reason why politics does not seem amenable to the highest kind of literary representation seems to arise from the
fact that politics by its very nature is constituted of ideas and ideologies. If political situations do not lend themselves to
happy literary treatment, political ideas present perhaps an even greater problem in this regard. Literature, it is argued, is
about human experiences rather than about intellectual abstractions; it deals in what is called the 'felt reality' of human flesh
and blood, and in sap and savour (rasa) rather than in and lifeless ideas. In an extensive discussion of the matter in her book
Ideas and the Novel, the American novelist Mary McCarthy observed that 'ideas are still today felt to be unsightly in the
novel though that was not so in 'former days', i.e., in the 18th and 19th centuries. Her formulation of the precise nature of the
incompatibility between ideas on the one hand and the novel on the other betrays perhaps a divided conscience in the matter
and a sense of dilemma shared by many writers and readers: 'An idea cannot have loose ends, but a novel, I almost think,
needs them. Nevertheless, there is enough in common for the novelists to feel. .. the attraction of ideas while taking up arms
against them - most often with weapons of mockery.'

31. According to the passage, a political novel 34. Literature deals with

often turns out to be a : o
a) Human experiences in politics

a) Literary distaste for politics b) Intellectual abstractions
b) Literary representation of politics ¢) Dry and empty ideas
¢) Novel with its own politics d) Felt reality of human life

d) Depiction of murky practice of politics

32. A political novel reveals

35. The observation of the novelist, Mary McCarthy
a) Reality of the things reveals
b) Writer's perception . .
¢) Particular ideology of the readers a) unseen felt ideas of today in the novel

d) The spirit of literature b) dichotomy of conscience on political ideas and novels

¢) compatibility between idea and novel
33. The constructs of politics by its nature is d) endless ideas and novels
a) Prevalent political situation
b) Ideas and ideologies
¢) Political propaganda
d) Understanding of human nature

Questions 36 - 40 :
Choose the expression that is closest to the standard English usage among the given choices in the
following sentences:

36. a) I have passed my B.Tech in 2007. 37. a) He shook the hand of his beloved.
b) I had passed my B.Tech in 2007. b) He shook hands with his beloved.
c¢) I did pass my B.Tech in 2007. ¢) He shook hands of his beloved.
d) I passed my B.Tech in 2007. d) He shook hand with his beloved.



38. a) God forbade Adam not to eat the apple.
b) God forbade Adam to eat the apple.
¢) God had forbidden Adam to eat the apple.
d) God had forbidden Adam not to eat the apple.

40. a) Let we discuss about the matter.

b) Let us discuss on the matter.
¢) Let us discuss the matter.
d) Let us discuss matter.

39. a) He resembles to his father.
b) He resembles his father.
¢) He resembled with his father.
d) He resembled by his father.

Questions 41 - 45

In the following questions a, b, and c are parts of the same sentence; d reads "No
error. Pick the grammatically incorrect part if any, else pick d.
41. a) My brother-in-laws 44. a) Myself and Gopalan

b) who live in Bombay b) will take care of

¢) have come to stay with us. ¢) the function on Sunday.

d) No error d) No error

42. a) Our laxity in duty 45. a) We do not know where he was educated

b) or what did he do to earn his bread at that time
¢) aversion to work. ¢) because history is silent about his early life.

d) No error d) No error

43. a) The road
b) to famous monument

b) increases with our

¢) passes through a forest.
d) No error

Questions 46 - 47 :

Choose the word which can replace the underlined word.

46. Despite his boisterous laughter, he nurtures a 47. Though into his mid-thirties, Sam still behaves in

deeply unsettling and darkly melancholic nature. a petulant way at times.
a) vicarious a) wicked

b) raucous b) innocent

¢) bellicose ¢) piquant

d) bovine d) childish

Questions 48 - 49 :
Choose the word or phrase closest in meaning to the given words.

48. Lethargy 49. Indelible
a) serenity a) unfit for consumption
b) listlessness b) polluted
¢) impassivity c) vitiated
d) laxity d) eatable

Questions 50 - 51 :
Choose the word or phrase opposite in meaning to the given words.

50. Genuine 51. Erudite
a) rotten a) ignorant
b) bogus b) unknown
¢) unsound c) illiterate
d) impure d) unfamiliar



Questions 52 - 53 :
Choose the correct meaning of each of the following foreign words :

52. par excellence 53. quid pro quo
a) equal to good a) something for something
b) below good b) something for nothing
c) extremely bad c) everything for something
d) superb d) something for everything

Questions 54 - 55 :
Choose the correct spelling from the following set of words :

54. a) Freiternity 55. a) Misappropraition
b) Freternity b) Misappropriation
c) Fraternity ¢) Mis apropriation
d) Fraternety d) Mis appropreishun

Questions 56 - 57 :
Provide the correct prepositions to the following sentences :

56. With open mouth, the visitors looked ...the painting. 57. The officer lives ...a large bungalow.

a) at a) at

b) on b) in

¢) into ¢) into
d) from d) from

Questions 58 - 59 :
Provide the correct question tags to each of the following questions :

58. Americans are quite rich, ...? 59. Few ideas were exchanged in a meeting,....?
a)isit a) weren't they
b) is it not b) were they
¢) aren't they c) was there
d) are they d) wasn't there

Choose the correct phrasal verb for the following sentence :

60. If you can just ...me for a little while longer, I
would explain to you the nuances of modern

poetry.
a) bear up
b) bear out

c¢) bear on
d) bear with



SECTION - III
MATHEMATICS

61. A mixture contains formaldehyde and water in the 68. Pipe A can fill a tank in 15 min. and pipe B can

62.

63.

64.

65.

66.

67.

ration 4:3. If 5 liters of water is added to the mixture
the ratio becomes 4:5. Find the quantity of the
formaldehyde in the given mixture.

a) 12 liters
b) 20 liters
¢) 10 liters
d) 13 liters

The difference between compound interest and
simple interest on a certain sum at 10% per annum
for 2 years is Rs. 631. Find the sum.

a) 63100
b) 63200
¢) 6000
d) 6313

Three consecutive positive even numbers are such
that thrice the first number exceeds double the third
by 2, the number is

a) 12
b) 14
c) 11
d) 13

6x3 (3-1)=2?

a) 24
b) 29
¢) 36
d) 42

10 lambs and 5 donkeys were purchased for
Rs. 6,000. If the average price of a lamb is
Rs. 450, find the average price of donkey.

a) 300
b) 320
¢) 390
d) 410

Average age of three students is 15 years. If their
ages are in the ratio 3:5:7, the age of the youngest
student is

a) 8 years
b) 12 years
c) 4 years
d) 9 years

The monthly salary of x , y, and z are in the ratio
2:3:5. If z's monthly salary is Rs. 1,200 more than
that of x, find y's annual salary.

69.

70.

71.

72.

73.

74.

fill the same tank in 40 min. Both the pipes are
opened to fill the tank. If pipe A is turned off after
4 min, in what time does the remaining tank get
filled?

a) 10 min. 10 sec.

b) 25 min. 20 sec.

¢) 29 min. 20 sec.

d) 20 min. 10 sec.

If selling price of 10 pencil boxes is equal to the
cost price of 11 pencil boxes, then the

profit is

a) 8.9%

b) 10%

¢) 11%

d) 12%

A train 300 meters long runs at the speed of 25
meters per second. In how much time will it cross a
tunnel of 200 meters?

a) 20 seconds
b) 32 seconds
¢) 24 seconds
d) 26 seconds

Two coins are tossed at the same time. The
probability of getting at the most one head is
a) 2/4
b) 2/2
¢) 3/0
d)3/4

What is 12% of 5000?

a) 500
b) 600
¢) 400
d) 640

Diagonals of a rhombus are 1 metre and 1.5 metres
in length. The area of the rhombus is

a) 1 metre square

b) 2 metre square

¢) 0.75 metre square
d) 1.3 metre square

Which of the following is the middle digit of the
second highest amount of the following five
numbers ?

254319 936 842 697
a) 1300 a)3
b) 1200 b) 6
¢) 1500 c)5
d) 1400 d) 4




75. In a row there are 10 girls, when Samantha was
shifted by two places towards the left, she became
7th from the left. What was her earlier position from
the right end of the row?

a)6
b) 5
c)4
d) 8

76. By increasing the speed of the bike by 15 km/hr, a
biker covers 300 kms in an hour less than before.
The original speed of the bike is

a) 64 km/hr
b) 50 km/hr
¢) 60 km/hr
d) 67 km/hr

77. Find the missing number:
3,6,8,16,18,?
a) 36
b) 38
¢) 40
d) 28

Questions 78 - 80 :
Complete the series:

78. 1,8,4,27,9,7?

a) 56
b) 25
c) 64
d) 81

79. 4,9,19,39,?

a) 59
b) 89
c) 49
d) 79

80. 3,2,7,6,11,7

a) 10
b) 18
c) 15
d) 16

81.

82.

83.

&4.

85.

Amy is as much as younger to Joanna as is she older
to Nickey. If the sum of the ages of Joanna and
Nickey is 48 years, what is the age of Amy?

a) 21 years
b) 24 years
c) 25 years
d) 22 years

A yacht sails down a river at 16 km/hr and up the
river at 8 km/hour. The distance travelled by the
boat in still water in 2 hours will be

a) 12 km
b) 18 km
¢) 13 km
d) 16 km

The sum of all triangles of an equilateral
triangle is

a) 180 degrees
b) 90 degrees

¢) 360 degrees
d) 120 degrees

Sum of all angles of a quadrilateral is

a) 290 degrees
b) 410 degrees
¢) 360 degrees
d) 390 degrees

A man's wage is reduced by 50%. The reduced
wage was then increased by 50 %. His loss in
percentage is

a) 34%

b) 24%

c) 22%

d) 25%



SECTION -1V
LOGICAL REASONING

86. If every alternative letter starting from B of the 90. If, (i) QUO CUI HEER means BOY IS GOOD.

English alphabet is written in small letter, rest all are
written in capital letters. How will the month
'September' be written as ?

a) SeptEMDbEr

b) SEpTeMBEr

¢) SepteMber

d) None of the above

Questions 87 - 88 :
Read the passage given below and answer the questions.

Seven piano students—T, U, V, W, X, Y, and
Z—are to give a recital, and their instructor is deciding
the order in which they will perform. Each student will
play exactly one piece, a piano solo. In deciding the
order of performance, the instructor must observe the
following restrictions:

87.

88.

&9.

* X cannot play first or second.

e W cannot play until X has played.

e Neither T nor Y can play seventh.

e Either Y or Z must play immediately after W plays.

o V must play either immediately after or immediately before U plays.

If V plays first, which one of the following must be
true?

a) T plays sixth.

b) X plays third.

¢) Z plays seventh.

d) T plays immediately after Y.

If U plays third, what is the latest position in which
Y can play?

a) first

b) second
¢) fifth
d) sixth

If LIGHT is called MORNING, MORNING is 95.

called DARK, DARK is called NIGHT, NIGHT is
called SUNSHINE and SUNSHINE is called DUSK,
when do we sleep ?

a) Dusk
b) Dark
¢) Sunshine
d) Night

91.

92.

93.

94.

(i) LAI QUO MEA means SITA IS FAIR.
(iii)) RUO LEV MEA means ALL ARE FAIR.
(iv) SI HAI CUI means DOG WAS GOOD.

then which of the following words stands for BOY ?

a) Quo
b) Lai
¢) Cui
d) Heer

If in a certain language SISTER is coded as
535301, UNCLE is coded as 84670 and BOY as
129 , how is son coded ?

a) 923
b) 524
c) 342
d) 872

If DUST is called AIR, AIR is called FIRE,
FIRE is called WATER, WATER is called
COLOUR , COLOUR is called RAIN and RAIN is
called DUST, where do Fish live ?

a) Dust
b) Fire

¢) Colour
d) Water

Find the missing number 2, 3, 6, 15, ?, 123

a) 47
b) 42
c) 45
d) 50

Find the missing character :

CF
DB
DH
E?

a) O

b)D

c)E

d)F

Find the missing character :
DLEUP?

a)B
b) A
©)Q
dR



96. Find the missing character :
AJM |HOT | MVY | TAF | YHK | ?

97.

98.

99.

100. Which word would appear Fourth in dictionary ?

101.

102.

a) UGC
b) FMT
¢) FMR
d) QGT

Find the missing number.

6 9 15
8 12 20
4 6 ?

a)5

b) 15

c)22

d) 10

Choose the odd one in the group.

a) FIL
b) RUX
¢) ILO
d) LOQ

Find the odd word in the given group.

a) Parole

b) Bail

c¢) Probation
d) Punishment

a) Solitaire
b) Soliloquy
¢) Solitary
d) Solitude

a) NQPTJHOJ
b) NQPTJOHJ
¢) NQTPJOHJ
d) NQPTJOHI

a) Brother

b) Sister

c¢) Nephew

d) Cannot be determined

If FRAGRANCE is written as SBHSBODFG, how
can IMPOSING be written?

If A is the brother of B, B is the sister of C, and C
is the father of D, how is D related to A?

103.

104.

Pointing to a girl, X said, "She is the daughter of
the only sister of my father." Who is X ?

a) Uncle

b) Cousin

c) Father

d) Grandfather

A's son B is married with C whose sister D is
married to E the brother of B. How is D related
to A?

a) Sister

b) Cousin

¢) Sister-in-law

d) Daughter-in-law

Questions 105 - 108 :

Six friends are sitting in a circle and are facing the
centre of the circle. Rekha is between Pradeep and
Pankaj. Priti is between Mukesh and Lalit. Prakash
and Mukesh are opposite to each other.

105.

106.

107.

108.

109.

110.

Who is sitting to the right of Pradeep ?

a) Mukesh
b) Rekha
c) Pankaj
d) Lalit

Who is sitting just right of Pankaj ?

a) Rekha
b) Lalit

c) Pradeep
d) Priti

Who are the neighbours of Mukesh ?

a) Pradeep and Rekha
b) Rekha and Priti

¢) Priti and Pankaj

d) Lalit and Priti

Who is sitting opposite to Priti ?

a) Pradeep
b) Rekha
c) Pankaj
d) Lalit

Choose the odd pair of words

a) Death: Disease
b) Milk : Butter

¢) Grape : Wine
d) Water : Oxygen

'Dress' is related to 'Body' in the same way as
'Bangles' is related to:

a) Glass
b) Lady
c) Wrist
d) Beauty



111.

112.

113.

114.

115.

SECTION -V
LEGALAPTITUDE AND LEGAL AWARENESS

Recently, the Chief Justice of India initiated
contempt of court proceedings against ...
sitting judge of Calcutta High Court.

a) Justice C S Karnan
b) Justice Dinakaran

¢) Justice Nirmal Yadav
d) Soumitra Sen

The Supreme Court recently ruled that liquor
shops

a) Are immoral and should not be visited.

b) Should not be near residential areas and highways.

¢) Should not be within 50 metres of national highways.

d) Should not be within 500 metres of national highways and
state highways.

Who is the present Chief Justice of India?

a)Justice D. Y. Chandrachud
b)Justice J. S. Khehar
c)Justice Altamas Kabir
d)Justice I. S. Mehta

Principle: No one who can form the mental
intention required to commit a crime, cannot be
held guilty.

Facts: X is 9 years old. He has a quarrel with one
of his friends at school. He comes back home,
takes a knife out of the kitchen and goes back after
him. He follows him from the playground and in a
deserted street stabs him in the back. Before his
friend could take a look at his face he leaves
quickly. Is X guilty?

a) X is not guilty because he is too young to form the required
mens red.

b) X is guilty because he could handle the knife perfectly
well, hence he is not young enough.

¢) X is not guilty of a crime because it was a child's game.

d) X is guilty because his actions indicate that he knew what
he was doing.

Principle: The state cannot treat men and women
differentially merely on the grounds of sex.

Facts: Air Force employs women on only desk jobs
and does not use them in combat. On the other hand
men get to be in combat hence getting promoted
quickly. The women employees contend that their
right to equality is being violated in matters of
promotion. Is it so?
a) The women employees have been discriminated against
based on their sex.
b) The discrimination is not only based on sex but on the
kind of service rendered.
¢) Air Force is allowed to discriminate between men and
women as it is a matter of defending the state.
d) The women employees have not been discriminated against
based on their sex.

116. Principle: Whoever enters into someone's property

without lawful justification is liable for trespass.

Facts: A postman enters into B's premises to
deliver a parcel. B sues him for trespass. Later it
was found that B had put up a sign board warning
trespassers and he had put up a box for letters by
his gate. Is the postman liable?

a) The postman is liable because he trespassed into the
property.

b) The postman is not liable because he was justified in
entering A's property.

¢) The postman entered the property with noble intentions,
so he is not liable.

d) The postman is not liable because he did not trespass.

The Railway authorities allowed a train to be
overcrowded. In consequence, a legitimate
passenger, Mr. X got his pocket picked. Choose
the appropriate answer.

a) Mr. X can sue the railway authorities for the loss suffered.

b) Mr. X cannot sue because he had given his consent to
travel in the overcrowded train.

¢) Mr. X cannot sue the railway authorities because there
was no infringement of legal right and mere fact that the
loss was caused does not give to a cause of action.

d) None of the above.

Recently in the month of March, 2017 Hon'ble
Uttarakhand High Court in an order accorded the
status of living human entities to two rivers in
India and granted them the same legal rights as
people. Those rivers are

a) Ganges, Yamuna

b) Krishna, Godawari
¢) Brahmputra, Sutlej
d) Saraswati, Bhagirathi

In a landmark order the Delhi High Court has
recently allowed the use of social networks like
WhatsApp, email and text message in judicial
proceedings. Which judge of Delhi High Court
allowed the plaintiff to serve the summons on one
of the defendants through WhatsApp, text message
and email?

a) Justice Rajiv Sahai Endlaw
b) Justice Sanjiv Khanna

¢) Justice I.S. Mehta

d) Justice Najmi Waziri

Which punishment was recently confirmed by the
Supreme Court of India awarded by the Delhi
High Court to the four convicts in Delhi Nirbhaya
gangrape case ?

a) death sentence

b) life imprisonment

¢) 10 years imprisonment

d) None of the above



121.

122.

123.

124.

125.

126.

127.

128.

Part... Article... contains the fundamental
duties of the citizens of India.

a)IVA;51A
b) IV A; 50
c)IV:5TA
d)IV; 50

When was International Labor Organization
established ?

a) 1919
b) 1920
¢) 1921
d) 1923

India has passed the Right to Education Act in:

a) 2010
b) 2012
¢) 2015
d) 2009

During the recess of State Legislative Assembly
if the Governor is satisfied that circumstances
exist which render it necessary for him to take
immediate action, he may promulgate

a) Act

b) Bills

¢) Notification

d) Ordinance

Age of Majority under Indian Contract Act 1872
is

a) 20
b) 18
c) 15
d) 21

Who banned the 'manjha’, the abrasive string, used 134,

for flying kites?

a) Supreme Court of India
b) National Green Tribunal
¢) Health Ministry

d) Environment Ministry

'consensus ad idem' means

a) Same Person, Same Sense
b) Same Thing, Same Sense

¢) Same Time, Same Party

d) Same Party, Different Thing

To respect the National Flag and the National
Anthem is a

a) Fundamental Right

b) Fundamental Duty

c¢) Directive Principle of State Policy
d) Constitutional Morality

129.

130.

131.

132.

133.

135.

136.

The killing of a new born child by its parents is

a) Malfeasance
b) Infanticide
¢) Abortion

d) Foeticide

Who has written Das Capital ?

a) Karl Marx
b) Kelson

c¢) Austin

d) Benthem

Which state in India on August 12, 2016 became
the first state to ratify the Goods and Services Tax
(GST) Act?

a) Assam

(b) Bihar

(¢) Tamil Nadu
(d) West Bengal

What is a "Moot Court'?

a) A Criminal Court

b) A Civil Court

¢) Mock court for practice by student
d) Another name for Magistrate's court

The maxim ves ipsa loquitur' means

a) The things do not speak for itself.

b) The things speak for itself.

¢) The things have to be proved beyond reasonable doubt.

d) The burden of proving the things always remains on the
plaintiff.

Nuisance means

a) An offence

b) Harmful

c¢) Causing inconvenience or annoyance to others
d) None of the above

Entry to a person's land or property without
permission is called

a) Nuisance

b) Trespass

¢) Negligence

d) All of the above

'mens rea’ means

a) guilty state of mind

b) relaxed state of mind
¢) peaceful state of mind
d) disturbed state of mind



137.

138.

139.

140.

141.

142.

143.

144.

Drink and driving is prohibited because

a) You might vomit while driving.

b) It can raise your temper.

¢) It reduces your reaction time, hence may cause accident.
d) It may induce sleep.

The President of India is sworn in by

a) The Vice President.

b) The Comptroller and Auditor General.

c¢) He is the Head of the State, hence he cannot be sworn in.
d) The Chief Justice of India.

146.

Justice J.S.Verma Committee report in the year
2013 deals with :

a) Rights of Children

b) Law related to offences against women

c) Centre - State relations
d) All of the above

Basic Structure Theory was laid down in the

147.

a) Keshavanand Bharti Case
b) Bachan Singh Case

¢) D. K. Basu Case

d) Mandal Commission Case

Under Article 32, the Supreme Court has the
power to issue

a) Writ

b) Statute

c) Legislation
d) Act

Article 21A of the Constitution of India provides
for

a) Right to equality

b) Right to education

¢) Right to assemble peaceably and without arms

d) Right to practice any profession, or to carry on any
occupation, trade or business

The Parliament of India has a ... legislature.

a) Unicameral

b) Bicameral

¢) Both

d) None of the above

The ideals of 'Liberty, Equality and Fraternity' in
the Preamble are derived from

a) Iranian Revolution

b) Chinese Revolution

¢) French Revolution

d) Russian Revolution

145.

148.

149.

150.

Facts: Mr. X was conferred with Padma Bhushan
in the year 2016. He returns the award claiming
that conferring of such award is abolished by the
Constitution under Article 18. Select the correct
option :

a) Mr. X is right in returning the award

b) Mr. X's claim to return the award is baseless as 'title'
under Article 18 does not include Padma Bhushan

c¢) Both a and b are correct

d) Both a and b are false

Extradition Treaty between India and any other
country means

a) Order of Indian Court will apply to Indians living
elsewhere other than India.

b) Export without double taxation.

¢) Two countries will deport criminals on reciprocal basis.

d) None of the above.

Mr. X is driving a car and mistakenly hits Mr.
Y's vehicle; Mr. Y stops and shouts at Mr. X.
What would be the most appropriate response of
Mr. X?

a) Mr. X accepts his mistake but blames it on the traffic.
b) Mr. X accepts his mistake and offers compensation.
¢) Mr. X threatens Mr. Y to see him later.

d) Mr. X ignores his words and proceeds on.

Insanity is

a) free will

b) feelings after drunkenness
c) deep sleep

d) diseased mind

The area of law which deals with family matters
including marriages, divorce, custody of child,
etc. is known as

a) Family Law
b) Business Law
¢) Cyber Law

d) Labour Law

The temporary release of a convicted prisoner
from prison for a fixed period is called

a) Bail

b) Parole

¢) Acquittal
d) Discharge



Rough Page



Rough Page



Rough Page



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16

